SAP ABAP table /[SAPSLL/CUCMAQ PK S {Default Qualifier for Measure Type ID - PK with Client}
_SAPSLL_CTYGP

/SAPSLL/CUCMAQ_PK S-CTYGR = /SAPSLL/CIYGP-MANDT 0N MANDT [CLNT (3)]

- CTYGR [CHAR (10)]

- _SAPSLL_CUCPAT
o MANDT [CLNT (3)]
CUSCS [CHAR (5)]
~°¥° _ - -0.N [QALDOC [CHAR (4)]
- PAPTY [CHAR (6)]

- _SAPSLL_TCTSMS
L /SAPSLL/CUCMAQ PK S-STCTM = /SAPSLL/TCTSMS-MANDT A

STCTM [CHAR (10)]

-

T -l _SAPSLL_TCUCS
/SAPSLL/CUCMAQ PK S-CNTRY = T005-LAND1 0.N [MANDT [CLNT (3)]

- CUSCS [CHAR (5)]

Tl TOO5

9.7 | MANDT [CLNT (3)]
LAND1 [CHAR (3)]




